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ANSWERS

Question 1

Find the domain of the following functions

o 3x5717z3+z(z+1)72

1) fl(x) 12 D1:IR
_(@-DE=-2)(z-3) _
2) fola) = Lo P29 Dy=R\{4,5, 6}
3) falv) = c—o—3 Dy=[0,00[\{2,3}
Vo —4
4) ful@)= "% % Dy=[4, 00[\{2, 3}
5) f5(z)=13\/5—z + 1810g5(x—7)+% Ds=2 @ isnamed the empty set

5—x2>0 and x—72>0 then =<5 AND z>7= impossible!
Question 2
. 4z r—1
Given f(z)=—7 and g(z)=—

4(111) z—1 z—1 4 4(x—1)

1) (ng)(x):(%)Jrl:’;lnL%: mjlra :(x,1)$+3— x+3

4z z—1_ z(xz—1)
2) (fg)(x)7w+1 4 T 41
3) Bonus :
(fog)(x):(f.g)(x)@‘*(j;y:'T(;;l) Iig:mil<:>4(x—|—1):3;(3;—|—3)<:>x2—33—4:0
<$JE1:—1i\/ﬁ
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